
For assistance call 1.800.285.8315

PS Series Mounting System Instructions

PS-50-32 / PS-50-24

Slide Central Support onto Screen 
Mount from side.

PS-ABV

Acrylic

L-Support
Bracket

Countersunk 
Bolt

Acorn Nut

Buttonhead 
Bolt 1/4 x 3/4”

Separate all pieces.

Step 1

Allen 
Wrench

Central 
Support

x4

x1

x4



For assistance call 1.800.285.8315

PS Series Mounting System Instructions

PS-ABV (continued)

Step 4

Bolt Acrylic onto L-Support Bracket 
using the four Countersunk Bolts 
and Acorn Nuts.

Step 2 Step 3

Slide PS-ABV into Central Support 
and lock in place at desired height 
using tabs.

Secure PS-ABV to Central Support 
using the Buttonhead Bolt



For assistance call 1.800.285.8315

PS Series Mounting System Instructions

PS-CTR

Step 1

Acrylic Center
Extension

Countersunk
Bolt

Acorn 
Nut

Buttonhead 
Bolt 1/4 x 3/4

Buttonhead 
Bolt 1/4 x 1

Seperate pieces.

Step 2

Bolt Acrylic to Center Extension 
using the four Countsunk Bolts and 
for Acorn Nuts

Central Arm

x4

x1 x4
x1



For assistance call 1.800.285.8315

PS Series Mounting System Instructions

PS-CTR (continued)

Step 3

Using the Buttonhead Bolt 1/4 x 3/4”, 
bolt the Center Extension with 
Acrylic to the Center Arm. 

Step 4

Lock in PS-CTR to Central Support 
using tabs.  Adjust the length of the 
PS-CTR and tighten Buttonhead 
Bolt.

Step 5

Secure PS-CTR to Central Support 
using Buttonhead bolt 1/4 x 1



For assistance call 1.800.285.8315

PS Series Mounting System Instructions

PS-BLW

Buttonhead 
Bolt 1/4 x 3/4

Bottom L-Support 
BracketShelf

x3

Step 1

Seperate pieces.

Step 2a 

Using 2 Buttonhead bolts, assemble 
Shelf to Bottom L-Support Bracket as 
shown for use with AVTEQ speaker or 
for use with any other item larger than 
the shelf.

Step 2b - Optional Assembly

Using 2 Buttonhead bolts, assemble 
Shelf to Bottom L-Support Bracket as 
shown.



For assistance call 1.800.285.8315

PS Series Mounting System Instructions

PS-BLW (continued)

Step 3 Step 5

Slide Bottom L-Support Bracket with 
Shelf into Central Support to desired 
height and lock in place with tabs.

Using Buttonhead Bolt Secure 
L-Support Bracket to Central 
Support.


